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General Instructions:

1. All questions are compulsory.

2 The questron paper consists of 31 questions divided into four secions A, B, Cand
D. Sexwon-A comprises of 4 questions of 1 mark each; Section-5 comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each and
Section-T comprises of 11 questions of 4 marks each.

3 There r ==~ -werall choice in this question paper.

L Use of m=—=ator is not permitted.

SECTION-A
Question numthers 3 to 4 carry one mark each
1 In the figure, D=8, If AD=2cm, AB=5cm and AE=1.5 cam, find EC 1
A
D E
B (5
2 Evaluate :

cosec 13 o XE
SOC 7T Fr-: il ol

3 . . ’ - 1
Write the expressicm in simplest form : sec28 — ST
¥ 2 For a certain disrbution, mode and median were found to be 1000 ang 1250 respectively.
Find mean for this distribution, using an empirical relation.
SECTION-B
Question numbers 5 to 10 carry two marks each.
5 Explain why the number 7% 5%3 %2 +3 is not a prime number ?
$ If L Al , find the value of m and n. Hence, write its decimal expansion without
m Em 5I'I
actual division.
7 Find whether the tollowing pair of linear equations is consistent or inconsistent :
y—xr=1
1-3y=4
8 Two poles of heights 2 m and 6 m are standing on the ground. 1f the distance between their
feet is 3 m, then find the distance between their fops.
9 Hs#cﬂ + tanfl = ¢ Zhow that
P—-—-— coseci= 1.
p + 1
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siven below is a grouped frequency distribution :
Class 100-150 | ﬁ Al i 250-300

"‘[’35_0-
300-350
interval 250 400

Frequency |8 115 29 i 117 |10

Make a cumulative frequency distribution table of 'less than type’ for it
SECTION-C

Question numbers 11 = 28y three marks eack.
Find LCM and HCF = 3937 and 1800 by prime factorisation method.
Divide 1 - 312+4x +5 by x2—x+1 and then find quotient and remainder.
If one of the zeros of the quadratic polynomial (k—1) x2+kx+1is 3,
How many zeros can a quadratic polynomial have ?
Salve the following par o* squations forx and y :

4
S+ Gy =7
.t

%1‘- dy =35
In the given figure, A and CD are two pillars. P is a point on BD such

PD=12 m. If CD=% — and AC=52 m, then find AB and AP, when £ =
ZAPC =9(F.
A 53 m

C

icm

B 16m F12m D

then find the value of k
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3
3
3

that Br=16m and 3
Zven that

In given figurs, DE|BC. 1 AD=4 cm and DB=2 cm, find area of AABC if area of AADE=16 3
am?.

A
D E
B C
Given that cos (A + B) = cosA. cosB — sinA. sinB. cosB + cosA. sinB. Find the value of cos 75°. 3
Prove that : 3
lﬂ! = (sec§ — - oV
1+sind
In the following distribution, if mean is 78, find the missing frequency (x) :
[ Class 50-60 60-70 70-80 80-90 90-100
Frequency | 8 ) 12 11 x
An N.G.O. working for weifare of cancer patients, maintained its records as follows -
’:Age of patients (in years; | 020 2040 | 4060 [60-80 |
Number of patients 35 315 120 50 |
Find mode.
SECTION-D

Question numbers 21 to 31 carry four marks each.

Use Euclid’s division lemma to show that the cube of any positive integer is of the form 9m

9m+1or9m+8, where m is an integer.

btain all other zeroes of the polynomial x4+ x¥ — 1622 = 11+ 48, if two of
and - 4.
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5 Wﬂsm?m;z, 1) and (1, 2) lie on any of the lines ? :
— Tl‘f’*“? lines r+ 1y =4, L -3y=12and x=0 are enclosing a beautiful triangular park. Find the 4
POINtS of mtersection of the lines graphically and the area of the park. if all measurements are
in km. Whar =pe of behavior should be expected by public in these tvre of parks ?
5 InaAABC,if AELDBC and AD is a median, then prove that *
AB2+ AC2=2 (AD2+ BD?).
26 Prove that the ralia of the areas of two similar triangles is equal - the square of the ratio of 4
their corresponding medians.
27 If =30, verify the following : %
i) cos 38 = 4 cos30 — 3 cosd
(M  sm36=3sin0— 4sinde
28 fx= secA + sinA and y= seca = sinA, prove that 4
(2] (5 -
¥+yj 2
29 Prove that : 4
sec® o tan0 _ secd  tang  _ 1+ sm’s
secl + tan8 * sec) — 1anf  secd — tan@  secd + tanl 1 — sin’0
30 A school held its sports day in which 150 students participated. Ages of students are givenin 4
the following frequency distribution :
Age 'l E x:nm E:: More | More I—Mure : ‘v‘lcms
: ' than or | than or | than or ' ®ar or
{l:ars] :1'1 1 2 1 o 1 |equal | equal |equal ; equal
* ;1:.1 :;l;a fg:a toll {013 |[t015 &7
Number : 1
of lise 16 {m0 |ss  |es a3 15
students 1 | ,
For above dat, draw a ‘more than type’ ogive and from the curve, find the median. Verify it
by actual calculations.
i1 Find the median and mode of the following data and then find the mean from the empirical 4
relationship between them :
Class interval | Frequency
0-20 6
20-40 8
40 - 60 10
60 - 80 12
B0 - 100 6
100- 120 5
120-140 3
~olololo
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